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1) The DC-DC converter shown in Figure 1 operates in CCM.
a) Derive the DC voltage transfer function Vo/V|y as a function of the duty cycle D (ignore the voltage
ripple across the capacitor C4).
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Assuming Vin = 12V, Vo =5V, L1 = L2 =500 uH, C; = 4.7 uF, Po = 10 W, fsw = 250kHz:
b) Calculate the average current in the inductors L1 and L.
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cj Calculate the peak-t—o-peak current ripple in Ly and L,.
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d) Calculate the peak-to-peak voltage ripple across C;.
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e) Calculate the peak-to-peak output voltage ripple (C = 470 uF, ESR = 25 mQ).
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